QUANTITIES IN CHEMICAL REACTIONS PRACTICE

ANSWERS

6 CO(g) + 6 H.O(/) —» 6 02 (g) + CsH1206(aq) CsHs(/) + 5 O2(g) —» 4 H,O(/) + 3 CO2(g)

CO; H.O 0, CsH120¢ CsHsg 0 H.O CO;
1 12 12 12 2 6 3 15 12 9
2 6 6 6 1 7 5 25 20 15
3 18 18 18 3 8 2 10 8 6
4 24 24 24 4 9 4 20 16 12
5 30 30 30 5 10 10 50 40 30

2 N;0s(g) —> 4 NO2(g) + O2(g) 2 CgHis(/) + 25 O;(g) —» 16 CO,(g) + 18 H,0(g)
N.Os NO; 0, CsHig 0; CO; H.0

11 2.5 5 1.25 16 1.0 12.5 8 9
12 0.75 15 0.375 17 | 0.144 1.8 1.152 1.296
13 19.2 384 9.6 18 1.2 15 9.6 10.8
14 2.65 53 1.325 19 | 0.478 5.975 3.82 4.3
15 7.2 14.4 3.6 20 | 0.875 10.9 7 7.875
21.48¢g 25.51¢g 29.2.1¢g 33.17¢g
22.33¢g 26.25¢g 30.1.2 g 34.10¢g
23.50; 27. CaCly 31. FeS 35.0;
24. 47 moles 28.30¢ 32.10¢g 36.375¢g

Balanced equation for 33-36: 4 NH;+5 0, —» 4 NO + 6 H,0




